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001.	 Which metal has 6 oxidation states 

(+ 1, + 2, + 3, + 4, + 5 and + 6);

	 (A)	 Fe	 (B)	 Co

	 (C)	 Cr	 (D)	 Ni

002.	 R d
1

\  at constant pressure states 

Law;

	 (A)	 Graham’s Law of diffusion

	 (B)	 Boyle’s Law

	 (C)	 Charles’ Law	

	 (D)	 Avogadro’s Law

001.	 {H$g YmVw H$s 6 AnM¶Z AdñWm hmoVr h¡

	 (+1, +2, +3, + 4, + 5 Am¡a +6);

	 (A)	 ’o$ag	 (B)	 H$mo~mëQ>

	 (C)	 H«$mo{‘¶‘	 (D)	 {Z{H$b

002.	 pñWa Xm~ R d
1

\  {H$g {Z¶‘ H$mo Xem©Vm 

h¡;

	 (A)	 J«mh‘ bm° {S>â¶yOZ

	 (B)	 ~m¶bg² bm°

	 (C)	 Mmëg© bm°

	 (D)	 EdmoJmXamog² bm°

AG - I : AGRICULTURAL CHEMISTRY AND PHYSICS / H¥${f agm¶ZemñÌ Am¡a ^m¡{VH$s

PAPER-3
AG-I 	 : 	Q. 1 to Q. 50
AG-II 	 :	 Q. 51 to Q. 100
AG-III 	 :	 Q. 101 to Q. 150
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003.	 One mole of a diatomic gas would 

contain the number of atoms;

	 (A)	 2	

	 (B)	 6.23 × 1023

	 (C)	 12.046 × 1023	

	 (D)	 12.046 × 1046

004.	 Atmospheric nitrogen is fixed in soil 

by the microbes;

	 (A)	 Rhizobium

	 (B)	 Pythium

	 (C)	 Rhizotoria

	 (D)	 Bacillus

	

005.	 Urea is commercially prepared by;

	 (A)	 Ammonium Carbonate	

(B)	 Ammonium Sulphate

	 (C)	 Ammonium Chloride

	 (D)	 Ammonium Carbamate

006.	 Which of following fertilizer is highly 

hydroscopic:

	 (A)	 Calcium Ammonium Nitrate

	 (B)	 Sodium Nitrate

	 (C)	 Ammonium Sulphate

	 (D)	 Urea

007.	 Rules governing the transition from 

ionic to covalent bonding are called;

	 (A)	 Fazan’s rules

	 (B)	 Avogadro’s rules

	 (C)	 Afbau’s rules

	 (D)	 Octet rules

003.	 S>mBEQ>m{‘H$ J¡g Ho$ EH$ ‘mob ‘o na‘mUw 

H$s g§»¶m hmoVr h¡-

	 (A)	 2	

	 (B)	 6.23 × 1023	

	 (C)	 12.046 × 1023

	 (D)	 12.046 × 1046

004.	 {‘Q²>Q>r ‘| dm¶w‘ÊS>br¶ ZmBQ´>moOZ gyú‘Ord 

Ûmam V¶ {H$¶m OmVm h¡-

	 (A)	 amBOmo{~¶‘

	 (B)	 nmB{W¶‘

	 (C)	 amBOmoQ>mo[a¶m

	 (D)	 ~¡{gbg

	

005.	 ì¶mnm[aH$ ê$n go ¶y[a¶m ~Zm¶r OmVr h¡-

	 (A)	 A‘mo{Z¶‘ H$m~m}ZoQ>

	 (B)	 A‘mo{Z¶‘ gë’o$Q>

	 (C)	 A‘mo{Z¶‘ ³bmoamBS>>

	 (D)	 A‘mo{Z¶‘ H$m~m}‘oQ>

006.	 H$m¡Z gr Cd©aH$ Á¶mXm hmBS´>moñH$mo{nH$ hmoVr 

h¡:

	 (A)	 H¡$pëg¶‘ A‘mo{Z¶‘ ZmBQ´>oQ>

	 (B)	 gmo{S>¶‘ ZmBQ´>oQ>

	 (C)	 A‘mo{Z¶‘ gë’o$Q	

	 (D)	 ¶y[a¶m

007.	 Am¶mo{ZH$ go H$modmboÝQ> ~m§qS>J AdñWm ‘| 

OmZo na {Z¶‘ bmJy hmoVm h¡;

	 (A)	 ’¡$OmÝg {Z¶‘

	 (B)	 EdmoJmXamo H$m {Z¶‘

	 (C)	 Am’$~mC {Z¶‘

	 (D)	 Am³Q>oQ> {Z¶‘
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008.	 Which is a bivalent solid

	 (A)	 MgO	 (B)	 MgF2

	 (C)	 NaCl	 (D)	 ZnO

009.	 Which of the following compound 

imparts hardness to water:

	 (A)	 Ca(HCO3)2

	 (B)	 Mg(HCO3)2

	 (C)	 NaAlO2	

	 (D)	 CaCl2

010.	 The method used for removal of total 

hardness of water is;

	 (A)	 Zeolite method

	 (B)	 Ion Exchange resin method

	 (C)	 Boiling method

	 (D)	 Coagulation method

011.	 Inspite of being sufficient nitrogen 

gas available in air plants cannot use 

because;

	 (A)	 It is inert

	 (B)	� Its molecule has triple bond and 

is quite stable.

	 (C)	 It is a gas

	 (D)	 It is not available in soil

012.	 In the following which is most efficient 

method of sterilization of water:

	 (A)	 Addition of CaOCl2	

(B)	 Addition of chlorine

	 (C)	 Chloramine method	

(D)	 Addition of NaAlO2

008.	 ~mBd¡boÝQ> R>mog H$m¡Z h¡-

	 (A)	 MgO	 (B)	 MgF2

	 (C)	 NaCl	 (D)	 ZnO

009.	 H$m¡Z gm ¶m¡{JH$ nmZr H$mo ñWm¶r ê$n go 

H$R>moa ~ZmVm h¡-

	 (A)	 Ca(HCO3)2

	 (B)	 Mg(HCO3)2

	 (C)	 NaAlO2	

	 (D)	 CaCl2

010.	 nmZr H$s H$R>moaVm {H$g VarHo$ go Xÿa H$s 

OmVr h¡-

	 (A)	 {O¶mobmBQ> {d{Y

	 (B)	 Am¶Z Ho$ AmXmZ àXmZ ao{OZ {d{Y go

	 (C)	 ~mînZ {d{Y

	 (D)	 H$m°JwbogZ {d{Y

011.	 dmVmdaU ‘| A{YH$ ZmBQ´>moOZ J¡g Ho$ 

hmoVo hþE nm¡Yo CgH$m à¶moJ Zht H$a nmVo  

³¶m|{H$-

	 (A)	 ¶h A{H«$¶ h¡&

	 (B)	� BgHo$ H$U {Vhao Am~§Y ‘| hmoVo h¡ 

Am¡a pñWa hmoVo h¢&

	 (C)	 ¶h J¡g h¡&

	 (D)	� ¶h {‘Q²>Q>r ‘| Zht nm¶r OmVr h¡&

012.	 nmZr H$mo H$sQ>mUw a{hV ewX²Y H$aZo H$s H$m¡Z 

gr CÎm‘ {d{Y h¡ -

	 (A)	 CaOCl2 H$m Ow‹S>Zm

	 (B)	 ³bmoarZ H$m Ow‹S>Zm

	 (C)	 ³bmoam‘mBZ {d{Y

	 (D)	 NaAlO2 H$m Ow‹S>Zm
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013.	 Which of the following catalyst is used 

as a catalyst for synthesis of NH3 by 

Haber’s process;

	 (A)	 Molybdenum	(B)	 Mercury

	 (C)	 Tungsten	 (D)	 Cadmium

014.	 Which is not a unit of hardness;

	 (A)	 °Cl	 (B)	 °Fr

	 (C)	 ppm	 (D)	 gm lit–1

015.	 Saponification number of an oil/fat is;

	 (A)	� Volume of 0.1 M KOH in ml 

required for neutralization of 5 

gram oil or fat

	 (B)	� Number of milligrams of KOH 

required for neutralization of 1 gm 

oil or fat.

	 (C)	� Number of grams of 12 required 

for per 100 gram of oil or fat.

	 (D)	� Milligrams of KOH required for 

saponification of one gram oil or 

fat.

016.	 The correct IUPAC name of the 

compound is;
CH2CH2OH

	 (A)	 Benzyl Alcohol	

	 (B)	 Benzal Alcohol

	 (C)	 Phenyl Ethanol

	 (D)	 Benzo Alcohol

013.	 A‘mo{Z¶m Ho$ g§íbofU Ho$ {bE h¡~a {H«$¶m 

Ûmam {H$g H¡$Q>m{bñQ> H$m à¶moJ {H$¶m OmVm 

h¡-;

	 (A)	 ‘mbrãS>oZ‘	 (B)	 ‘H©$ar

	 (C)	 Q>§JñQ>Z	 (D)	 H¡$S>{‘¶‘

014.	 H$R>moaVm H$s BH$mB© H$m¡Z gr Zht h¡-

	 (A)	 °Cl	 (B)	 °Fr

	 (C)	 ppm	 (D)	 gm lit–1

015.	 Am¶b/’¡$Q> H$m g¡nmo{Z{’$Ho$gZ g§»¶m h¡ -

	 (A)	� 5  J«m‘ Am¶b/dgm Ho$ Ý¶yQ´>rbmBOogZ 

Ho$ {bE 0.1 M KOH Am¶VZ H$s 

Oê$aV h¡

	 (B)	� 1 J«m‘ Am¶b/dgm Ho$ Ý¶yQ´>rbmBOogZ 

Ho$ {bE KOH  H$s {‘brJ«m‘ ‘| g§»¶m 

H$s Oê$aV hmoVr h¡

	 (C)	� 100 J«m‘ Am¶b / dgm Ho$ {bE 12 J«m‘

Ho$ g§»¶m H$s Oê$aV hmoVr h¡

	 (D)	� 1 J«m‘ Am¶b/dgm Ho$ g¡nmo[Z{’$Ho$gZ 

Ho$ {bE KOH Ho$ {‘{bJ«m‘ H$s Oê$aV 

hmoVr h¡

016.	 {X¶o J¶o ¶m¡{JH$ H$m AmB©.¶y.nr.E.gr. Zm‘ 

Xr{OE
CH2CH2OH

	 (A)	 ~oÝOmBb EëH$mohb

	 (B)	 ~oÝOb EëH$mohb

	 (C)	 {’$ZmBb BWoZmb

	 (D)	 ~oÝOmo EëH$mohb
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017.	 Alkaline KMnO4 is decolorized by;
	 (A)	 Alkanes
	 (B)	 Aromatics
	 (C)	 Heterocyclics	
	 (D)	 Alkenes

018.	 Glucose and fructose show;
	 (A)	 Optical isomerism	
	 (B)	 Geometrical isomerism
	 (C)	 Sterio - isomerism
	 (D)	 Polymerism
	
019.	 Percentage of nitrogen in Urea is;
	 (A)	 20-30%
	 (B)	 33-34%	
	 (C)	 28-29% 
	 (D)	 44-46%

020.	 Which of the following forms a cyclic 
dimer due to hydrogen bonding:

	 (A)	 Methanol
	 (B)	 Water	
	 (C)	 Hydrogen Fluoride	
	 (D)	 Acetic Acid

021.	 One Sigma (s) and two pi (p) bonds 
are found in;

	 (A)	 C2H2	 (B)	 C2H6
	 (C)	 CH4	 (D)	 C2H4

022.	 Single superphosphate is produced by 
reaction of rock phosphate with;

	 (A)	 Nitric Acid	
	 (B)	 Hydrochloric Acid
	 (C)	 Phosphoric Acid	
	 (D)	 Sulphuric Acid

017.	 EëH$mbmBZ KMnO4 {H$gHo$ Ûmam a§J{dhrZ 
hmoVm h¡

	 (A)	 EëHo$Ýg
	 (B)	 Eamo‘o{Q>³g
	 (C)	 hoQ´>mogmBp³bH$g
	 (D)	 EbH$sÝg

018.	 ½byH$moO Am¡a ’«$³Q>moO Xem©Vo h¡
	 (A)	 AmßQ>rH$b g‘md¶dr
	 (B)	 Á¶m{‘Vr¶ g‘md¶dr
	 (C)	 ñQ>r[a¶mo g‘md¶dr
	 (D)	 nmbr‘o[aÁ‘
	
019.	 ¶y[a¶m ‘| ZmBQ´>moOZ H$m à{VeV hmoVm h¡;
	 (A)	 20-30%
	 (B)	 33-34%	
	 (C)	 28-29% 
	 (D)	 44-46%

020.	 {ZåZ{b{IV ‘| go H$m¡Z gm hmBS´>moOZ ~m§qS>J 
Ho$ H$maU gmBp³bH$ S>r‘a ~ZmVm h¡-

	 (A)	 {‘WoZm°b
	 (B)	 Ob	
	 (C)	 hmBS´>moOZ âbmoamBS>
	 (D)	 Egr{Q>H$ Aåb

021.	 EH$ {g½‘m (s) Am¡a Xmo nmB© (p) Am~§Y 
nm¶m OmVm h¡ -

	 (A)	 C2H2	 (B)	 C2H6
	 (C)	 CH4	 (D)	 C2H4

022.	 qg{Jb gwna’$mñ’o$Q> H$m {Z‘m©U amH$’$mñ’o$Q> 
Ho$ {H$g A{^{H«$¶m go hmoVr h¡ -

	 (A)	 ZmB{Q´>H$ Aåb	
	 (B)	 hmBS´>mo³bmo[aH$ Aåb
	 (C)	 ’$mñ’$mo[aH$ Aåb
	 (D)	 gëâ¶y[aH$ Aåb
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023.	 The content of Nitrogen: Phosphorus 
in DAP is;

	 (A)	 20:20	 (B)	 18:46
	 (C)	 46:18	 (D)	 50:50

024.	 According to Hund’s Rule which of the 
following is correct:

	 (A)	� Molecular orbitals are filled in 
order of increasing energy.

	 (B)	� Two electrons in the same orbital 
cannot have all four quantum 
number identical

	 (C)	� Pairing of electrons in the 
degenerate molecular orbitals does 
not occur until each of them have 
one electron each	

	 (D)	 None of the above

025.	 Required weight of NaOH for preparation 
of its 1 N 250 ml solution will be 

	 (A)	 40 gm	 (B)	 10 gm
	 (C)	 0.4 gm	 (D)	 4.0 gm

026.	 A person travelling on a straight line 
moves with uniform velocity v1 for a 
distance x and with the uniform velocity 
v2 for the next equal distance x. The 
average velocity during the motion, 
V is given by

	 (A)	 V v v1 2=

	 (B)	 ( )V v v2
1

1 2= +

	 (C)	 V v v
1 1 1

1 2
= +

	 (D)	 V v v
2 1 1

1 2
= +

023.	 S>r.E.nr. ‘| ZmBQ´>moOZ … ’$mñ’$moag H$s ‘mÌm 

hmoVr h¡&

	 (A)	 20:20	 (B)	 18:46

	 (C)	 46:18	 (D)	 50:50

024.	 hþÝS>g {Z¶‘ Ho$ AZwgma {ZåZ{b{IV ‘| go 

H$m¡Z-gm ghr h¡ -

	 (A)	� ‘mboHy$ba Ama{~Q>bg² ^ao hmoVo h¡§ ep³V 

Ho$ ~‹T>Vo H«$‘ ‘|&

	 (B)	� Xmo Bbo³Q´>mZ EH$ O¡go Ama{~Q>b ‘o§ 

Mma EH$ hr Vah Ho$ ³dmÝQ>‘ Zhr§ 

aI gH$Vo&

	 (C)	� {~Zm EH$ Bbo³Q´>mZ Ho$ ^ao hþE S>rOZaoQ> 

‘mboHy$ba Ama{~Q> ‘| Bbo³Q́>mZ H$m Omo‹S>m 

Zht ~Z gH$Vm&

	 (D)	 BZ‘| go H$moB© Zht&

025.	 NaOH Ho$ ^ma H$s Oê$aV hmoJr 1 N 250 

ml Ho$ ‘mob ‘| -

	 (A)	 40 gm	 (B)	 10 gm

	 (C)	 0.4 gm	 (D)	 4.0 gm

026.	 EH$ AmX‘r g‘mZ doJ v1 go aoIr¶ nW na 

Xÿar x V¶ H$aVm h¡ Am¡a EH$ g‘mZ doJ 

v2 go dhr Xÿgar Xÿar x {’$a V¶ H$aVm 

h¡& J{V H$m Am¡gV doJ V hmoJm&

	 (A)	 V v v1 2=

	 (B)	 ( )V v v2
1

1 2= +

	 (C)	 V v v
1 1 1

1 2
= +

	 (D)	 V v v
2 1 1

1 2
= +
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027.	 Two balls are thrown horizontally and 
simultaneously from the same point but 
with different speeds. Which ball will 
hit the ground first?

	 (A)	 The slower one
	 (B)	 The faster one
	 (C)	 Both reach simultaneously
	 (D)	 Insufficient data

028.	 The ratio of electric to gravitational force 
between two electrons approximately 
equal to

	 (A)	 4  ×  10– 42

	 (B)	 4  ×  10– 24

	 (C)	 4  ×  1042

	 (D)	 4  ×  1054

029.	 A block of mass M is placed on a 
smooth inclined plane of inclination q 
with the horizontal. The force exerted 
by the plane on the block has a 
magnitude equal to

	 (A)	 Mg	 (B)	 Mg cos q
	 (C)	 Mg sin q	 (D)	 Mg tan q

030.	 A body mass 20  kg is pulled on 
a horizontal surface by applying a 
horizontal force. If the coefficient of 
friction between the body and the 
horizontal surface is 0.25. What is 
the force of friction exerted by the 
horizontal surface on the box.

	 (A)	 49  N	 (B)	 4.9  N
	 (C)	 0.49  N	 (D)	 9.4  N

027.	 Xmo J|X EH$ gmW {j{VO {Xem ‘| {H$gr 

q~Xþ go {d{^ÝZ doJ go ’|$Ho$ OmVo h¡& H$m¡Z 

gm J|X n¥Ïdr na nhbo Q>H$am¶oJm&

	 (A)	 H$‘ doJ dmbm

	 (B)	 Á¶mXm doJ dmbm

	 (C)	 XmoZmo§ EH$ gmW

	 (D)	 An¶m©ßV Am±H$‹S>o

028.	 Xmo Bbo³Q´>mZ Ho$ ~rM bJZo dmbo {dÚwV ~b 

d JwéËd ~b H$m AZwnmV h¡-

	 (A)	 4  ×  10– 42

	 (B)	 4  ×  10– 24

	 (C)	 4  ×  1042

	 (D)	 4  ×  1054

029.	 M Ðì¶‘mZ H$m EH$ Qw>H$‹S>m {H$gr {MH$Zr 

gVh na {OgH$m j¡{VO go H$moU q h¡, 

aIm hþAm h¡& gVh Ûmam Qw>H$‹S>o na bJm¶o 

J¶o ~b H$m ‘mZ h¡-

	 (A)	 Mg	 (B)	 Mg cos q

	 (C)	 Mg sin q	 (D)	 Mg tan q

030.	 20  {H$J«m Ðì¶‘mZ H$s EH$ dñVw j¡{VO 

Vb na j¡{VO ~b Ho$ Ûmam ItMr OmVr 

h¡& ¶{X Kf©U JwUm§H$ H$m ‘mZ 0.25 hmo Vmo 

j¡{VO Vb Ûmam bJm¶m J¶m Kf©U ~b 

hmoJm-

	 (A)	 49  N	 (B)	 4.9  N

	 (C)	 0.49  N	 (D)	 9.4  N
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031.	 If a spring is stretched twice than its 
initial value, the stored energy in the 
spring will be

	 (A)	 Same

	 (B)	 Increased by a factor of two

	 (C)	� Increased by a factor of four

	 (D)	� Increased by a factor of eight

032.	 The geostationary orbit is at a height 
of 

	 (A)	 3600 km	 (B)	 36000 km

	 (C)	 46000 km	 (D)	 56000 km
	
033.	 The specific heat of all solids at high 

temperature is equal to 
	 (A)	 R	 (B)	 2R

	 (C)	 3R	 (D)	 4R

034.	 Two equal masses are attached at the 
two ends of a spring of force constant k. 
The masses are pulled out symmetrically 
to stretch the spring by a length x over 
its natural length. The work done by the 
spring on each mass is

	 (A)	 ½ kx2

	 (B)	 – ½ kx2

	 (C)	 ¼ kx2	

	 (D)	 – ¼ kx2

035.	 The time period of an earth satellite’s 

circular orbit is independent of 

	 (A)	 Radius of the orbit

	 (B)	 Mass of the satellite

	 (C)	 Both of them

	 (D)	 None of these

031.	 ¶{X EH$ pñà¨J nhbo H$s VwbZm ‘| XÿZr 
ItMr OmVr h¡ Vmo pñà¨J ‘| {Z{hV D$Om© 
hmoJr

	 (A)	 nhbo O¡gr

	 (B)	 nhbo H$s XÿZr

	 (C)	 nhbo H$s Mma JwZr

	 (D)	 nhbo H$s AmR> JwZr

032.	 ^ypñWa H$jm (geostationary) H$s D±$MmB© 
h¡ -

	 (A)	 3600 km	 (B)	 36000 km

	 (C)	 46000 km	 (D)	 56000 km
	
033.	 A{YH$ Vmn na R>mog nXmW© H$m ñno{g{’$H$ 

hrQ> (specific heat) H$m ‘mZ h¡&
	 (A)	 R	 (B)	 2R

	 (C)	 3R	 (D)	 4R

034.	 Xmo g‘mZ Ðì¶‘mZ EH$ pñà¨J Ho$ XmoZmo {gam§o 
na {OgH$m ~b {Z¶Vm§H$ k h¡, Ow‹S>o hþE h¢& 
XmoZmo§ Ðì¶‘mZm| H$mo EH$ ê$n go ~mha H$s 

Va’$ x Xÿar VH$ ItMm OmVm h¡, pñà¨J Ûmam 
ha EH$ Ðì¶‘mZ na {H$¶m J¶m H$m¶© h¡ -

	 (A)	 ½ kx2

	 (B)	 – ½ kx2

	 (C)	 ¼ kx2

	 (D)	 – ¼ kx2

035.	 n¥Ïdr Ho$ d¥Îmr¶ H$jr¶ CnJ«h H$m AmdV©H$mb 
{Z^©a Zht H$aVm 

	 (A)	 H$jm H$s {ÌÁ¶m na
	 (B)	 CnJ«h Ho$ Ðì¶‘mZ na
	 (C)	 XmoZmo§ na
	 (D)	 {H$gr na Zht
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036.	 For solids and liquids the difference CP 

and CV is

	 (A)	 Very small

	 (B)	 Very large

	 (C)	 Large

	 (D)	� Dependent on the solid substance

037.	 The first law of thermodynamic is a 

statement of

	 (A)	 Conservation of entropy

	 (B)	 Conservation of energy

	 (C)	 Non conservation of entropy

	 (D)	 Non conservation of energy

038.	 The value of Stefan-Boltzmann constant 

is approximately.

	 (A)	 5.67 × 10–8 W/m2k4

	 (B)	 6.57 × 10–8 W/m2k4

	 (C)	 5.67 × 108 W/m2k4

	 (D)	 6.57 × 108 W/m2k4

039.	 The temperature dependence of energy 

radiated by a black body is given as 

(T is in Kelvin)

	 (A)	 T – 4	 (B)	 T –2

	 (C)	 T2	 (D)	 T4

040.	 The change in entropy of a closed 

system for irreversible process

	 (A)	 Zero	

	 (B)	 Less than zero

	 (C)	 Greater than zero	

	 (D)	 Can’t be predicted

036.	 {H$gr R>mog nXmW© Ho$ CP Am¡a CV ‘| A§Va 

h¡-

	 (A)	 ~hþV H$‘

	 (B)	 ~hþV Á¶mXm

	 (C)	 Á¶mXm

	 (D)	 R>mog nXmW© na {Z^©a

037.	 D$î‘mJ{VH$s H$m àW‘ {gÕm§V H$WZ h¡

	 (A)	 EÝQ´>monr g§ajU H$m

	 (B)	 D$Om© g§ajU H$m

	 (C)	 EÝQ´>monr Ag§ajU H$m

	 (D)	 D$Om© Ag§ajU H$m

038.	 ñQ>r’$mZ-dmoëQ²>O‘¡Z {Z¶Vm§H$ H$m ‘mZ h¡ 

bJ^J
	 (A)	 5.67 × 10–8 W/m2k4

	 (B)	 6.57 × 10–8 W/m2k4

	 (C)	 5.67 × 108 W/m2k4

	 (D)	 6.57 × 108 W/m2k4

039.	 {H$gr black body Ho$ D$Om© {d{H$aU H$m 

Vmnr¶ gå~ÝY h¡

	 (Ohm± T Ho$b{dZ ‘| h¢)

	 (A)	 T – 4	 (B)	 T –2

	 (C)	 T2	 (D)	 T4

040.	 {H$gr ~§X {ZH$m¶ (closed system) Ho$ {bE 
irreversible àH«$‘ H$s entropy n[adV©Z 
hmoVr h¡

	 (A)	 eyÝ¶	
	 (B)	 eyÝ¶ go H$‘
	 (C)	 eyÝ¶ go Á¶mXm
	 (D)	 Zht ~Vm¶m Om gH$Vm
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041.	 When the zero error is positive?
	 (A)	� When Vernier zero is to the right 

of the zero of main scale
	 (B)	� When Vernier zero is to the left 

of the zero of main scale.
	 (C)	� When Vernier zero is at the zero 

of main scale.
	 (D)	 None of these

042.	 The least count of the commonly used 
screw gauge is

	 (A)	 0.1 cm	 (B)	 0.01 cm
	 (C)	 0.001 cm	 (D)	 1.0 cm

043.	 The pressure on swimmer 10 m below 
the surface of a lake is approximately 
equal to

	 (A)	 10  atm
	 (B)	 20  atm
	 (C)	 50  atm
	 (D)	 100  atm

044.	 One atmospheric pressure is equal to 

	 (A)	 1.01  ×  103 Pa

	 (B)	 1.01  ×  104 Pa

	 (C)	 1.01  ×  105 Pa	

	 (D)	 1.01  ×  106 Pa

045.	 One torr of pressure is equal to 
approximately.

	 (A)	 133 Pa
	 (B)	 233 Pa
	 (C)	 333 Pa
	 (D)	 None of these

041.	 eyÝ¶ Ìw{Q> YZmË‘H$ hmoJr ¶{X
	 (A)	� d{Z©¶a H$m eyÝ¶ ‘w»¶ ñHo$b Ho$ Xm{hZr 

Va’$ hmo
	 (B)	� d{Z©¶a H$m eyÝ¶ ‘w»¶ ñHo$b Ho$ ~m±¶r 

Va’$ hmo
	 (C)	� d{Z©¶a H$m eyÝ¶ ‘w»¶ ñHo$b Ho$ eyÝ¶ 

na hmo
	 (D)	 BZ‘o go H$moB© Zhr§

042.	 gm‘mÝ¶ Vm¡a na à¶moJ {H$¶o OmZo dmbo 
ñH«y$JoO H$m AënV‘m§H$ hmoVm h¡

	 (A)	 0.1 cm	 (B)	 0.01 cm
	 (C)	 0.001 cm	 (D)	 1.0 cm

043.	 {H$gr Prb H$s 10  ‘r. JhamB© ‘| {H$gr 

V¡amH$ na bJZodmbm Xm~ hmoJm (bJ^J)

	 (A)	 10  atm

	 (B)	 20  atm

	 (C)	 50  atm

	 (D)	 100  atm

044.	 EH$ dm¶w‘ÊS>br¶ Xm~ (1 atm) ~am~a h¡

	 (A)	 1.01  ×  103 Pa

	 (B)	 1.01  ×  104 Pa

	 (C)	 1.01  ×  105 Pa	

	 (D)	 1.01  ×  106 Pa

045.	 EH$ Q>ma (1 atm) H$m Xm~ bJ^J ~am~a 
hmoVm h¡-

	 (A)	 133 Pa
	 (B)	 233 Pa
	 (C)	 333 Pa
	 (D)	 H$moB© Zht
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046.	 Which of the following describes a 

cumulonimbus cloud?

	 (A)	 Cloud on a ground

	 (B)	 Sleet cloud

	 (C)	 Fog	

	 (D)	 Thundercloud

	

047.	 Diffusion pumps work on the principle 

of 

	 (A)	 Effusion	

	 (B)	 Diffusion

	 (C)	 Both (A) and (B)

	 (D)	 None of these

048.	 The SI unit of surface tension is

	 (A)	 Nm–1	 (B)	 Nm

	 (C)	 N	 (D)	 Nm–2

049.	 When a body of m attached to a string 

is revolved in a vertical circle, the 

difference in tension in the string at 

bottom to the tension in the string at 

the top is 

	 (A)	 4  mg	 (B)	 5  mg

	 (C)	 6  mg	 (D)	 Zero

050.	 For maximum range, the projectlie 

should be thrown at an angle of ............ 

dig making with the horizontal.

	 (A)	 60°	 (B)	 45°

	 (C)	 90°	 (D)	 Zero

046.	 ³¶y{‘Zmo{bå~g (cumulonimbus) ~mXb 

H$m¡Zgm h¡ -

	 (A)	 YaVr na ~mXb

	 (B)	 ñbrQ> (sleet) ~mXb

	 (C)	 ’$mJ (Hw$ham)

	 (D)	 WÝS>a³bmCS>

	

047.	 {S>â¶yOZ n§n {H$g {gÕmÝV na AmYm[aV 

h¡- 

	 (A)	 Eâ¶yOZ	

	 (B)	 {S>â¶yOZ

	 (C)	 XmoZm| (A) Am¡a (B)

	 (D)	 BZ‘| go H$moB© Zht

048.	 ga’o$g Q>|eZ (surface tension) H$s SI BH$mB© 

h¡

	 (A)	 Nm–1	 (B)	 Nm

	 (C)	 N	 (D)	 Nm–2

049.	 S>moar go ~±Yr hþB© m Ðì¶‘mZ H$s EH$ dñVw 

D$Üdm©Ya Vb ‘| JmobmH$ma Kw‘mB© OmVr h¡& 

S>moar ‘| VZmd ‘| A§Va hmoJm, O~ Ðì¶‘mZ 

ZrMo Am¡a D$na H$s Amoa h¡& 

	 (A)	 4  mg	 (B)	 5  mg

	 (C)	 6  mg	 (D)	 Zero

050.	 {H$gr àjon H$mo {j{VO go {H$g H$moU na 

àjo{nV {H$¶m Om¶o {H$ CgH$m a|O (range) 

A{YH$V‘ hmo

	 (A)	 60°	 (B)	 45°

	 (C)	 90°	 (D)	 Zero



3 - CA ]	 [ 13 ]	 [ P.T.O.

AG - II : AGRONOMY & AGRICULTURAL BOTANY / gñ¶ {dkmZ Am¡a H¥${f dZñn{V emñÌ

051.	 Piezometer is used to measure-
	 (A)	 Ground water table
	 (B)	 River water depth
	 (C)	 Pond water depth
	 (D)	 None of these

052.	 Water use efficiency is maximum in 
	 (A) Drip irrigation
	 (B)	 Flood irrigation
	 (C)	 Sprinkler irrigation
	 (D)	 None of these.

053.	 The scientific name of common bread 
wheat is-

	 (A)	 Triticum aestivum
	 (B)	 Oryza sativa
	 (C)	 Pisum sativum
	 (D)	 Zea mays

054.	 Late blight of potato casual organism 
is-

	 (A) Bacillus species
	 (B)	 Phytophthora infestans
	 (C)	 Tricoderma species
	 (D)	 Pseudomonas species

055.	 The commonly used fertilizer for sprays 
are-

	 (A)	 DAP	 (B)	 SSP
	 (C)	 Urea	 (D)	 MOP

056.	 The nutrient source commonly used in 
organic forming is -

	 (A) Urea
	 (B)	 FYM (farm yard manure)
	 (C)	 DAP
	 (D)	 ZnSO4

051.	 {nOmo‘rQ>a go ‘mnm OmVm h¡ -
	 (A)	 J«mCÊS> dmQ>a Q>o~b
	 (B)	 ZXr H$s JhamB©
	 (C)	 Vmbm~ H$s JhamB©
	 (D)	 BZ‘| go H$moB© Zht

052.	 g~go A{YH$ Ob Cn¶moJ j‘Vm hmoVr h¡ -

	 (A) Q>nH$ qgMmB©

	 (B)	 ~m‹T> qgMmB©

	 (C)	 ~m¡N>mar qgMmB©

	 (D)	 BZ‘| go H$moB© Zht

053.	 ~«oS> Johÿ± H$m d¡km{ZH$ Zm‘ h¡ -

	 (A)	 Q´>r{Q>H$‘ EñQ>d‘²

	 (B)	 AmoQ²>Om gQ>mBdm

	 (C)	 nmBg‘ gQ>mBd‘

	 (D)	 Or¶m ‘o¶g²

054.	 Amby Ho$ nN>oVr amoJ H$m H$maH$ h¡ -

	 (A) ~¡{gbg ñnrgrO

	 (B)	 ’$mBQ>moâWmoam BZ’|$Q>|g

	 (C)	 Q´>mBH$moS>‘m© ñnrgrO

	 (D)	 ñ¶yS>mo‘moZmg ñnrgrµO

055.	 ñào Ho$ Ûmam {X¶m OmZo dmbm Cd©aH$ h¡ -

	 (A)	 S>r.E.nr.	 (B)	 Eg.Eg.nr.

	 (C)	 ¶y[a¶m	 (D)	 E‘.Amo.nr.

056.	 H$m~©{ZH$ IoVr ‘| Cn¶moJ hmoZo dmbo nmofH$ 

VËd H$m òmoV h¡ -

	 (A) ¶y[a¶m

	 (B)	 ’$m‘© ¶mS>© ‘¡Ý¶moa (FYM)

	 (C)	 S>r.E.nr.

	 (D)	 qOH$ gë’o$Q>
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057.	 The chromosome no. in bread wheat 
is-

	 (A)	 36	 (B)	 40
	 (C)	 20	 (D)	 42

058.	 The origin of maize is-
	 (A) Japan	 (B)	 Mexico
	 (C)	 India	 (D)	 Africa

059.	 The arrangement of sand, silt, clay is 
called-

	 (A)	 Soil texture
	 (B)	 Soil structure
	 (C)	 Both soil structure and soil  

	 texture
	 (D)	 None of these

060.	 Vermicompost is the compost made by 
help of

	 (A) Pseudomonas species
	 (B)	 Earthworm
	 (C)	 Bacillus species
	 (D)	 None of these.

061.	 In plants, nutrients and water are 
transported through-

	 (A)	 Phloem
	 (B)	 Xylem
	 (C)	 Both xylem and phloem
	 (D)	 None of these

062.	 In plants, photosynthesis are transported 
through-

	 (A) Phloem
	 (B)	 Xylem
	 (C)	 Both xylem and phloem
	 (D)	 None of these

057.	 ~«oS> Johÿ± H$m H«$mo‘moOmo‘ Z§. h¡ -

	 (A)	 36	 (B)	 40

	 (C)	 20	 (D)	 42

058.	 ‘³Ho$ H$m CËn{Îm ñWb h¡ -

	 (A) OmnmZ	 (B)	 ‘¡p³gH$mo

	 (C)	 ^maV	 (D)	 A’«$sH$m

059.	 ^y{‘ ‘| ~mby, {gëQ> VWm ³bo H$m H«$‘ go 

ñWmnZm H$aZm H$hbmVm h¡ -

	 (A)	 ‘¥Xm Q>o³Ma

	 (B)	 ‘¥Xm ñQ´>³Ma

	 (C)	 XmoZmo§ (A) Ed§ (B)
	 (D)	 BZ‘| go H$moB© Zht

060.	 d‘uH$ånmoñQ> ImX ~ZVr h¡ -

	 (A) ñ¶yS>mo‘moZmg ñnrgrµO

	 (B)	 Ho$MwAm	

	 (C)	 ~¡{gbg² ñnrgrµO

	 (D)	 BZ‘| go H$moB© Zht

061.	 nm¡Ym| ‘| nmZr VWm nmofH$ VËd H$mo EH$ 

OJh go Xÿgar OJh ........... ‘mÜ¶‘ go 

OmVm h¡ -

	 (A)	 âbmo¶‘

	 (B)	 OmBb‘

	 (C)	 XmoZm| (A) Ed§ (B)
	 (D)	 BZ‘| go H$moB© Zht

062.	 nm¡Ym| ‘| ImZm ~ZZo Ho$ ~mX, EH$ OJh go 

Xÿgar OJh ....... ‘mÜ¶‘ go OmVm h¡ -

	 (A)	 âbmo¶‘

	 (B)	 OmBb‘

	 (C)	 XmoZm| (A) Ed§ (B)
	 (D)	 BZ‘| go H$moB© Zht
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063.	 The vegetable belong to cucurbitecae 

family is-

	 (A)	 Tomato	

	 (B)	 Garlic

	 (C)	 Potato	

	 (D)	 Pointed guard

064.	 The vegetable belong to cole crops is-

	 (A) Cabbage

	 (B)	 Raddish

	 (C)	 Garlic

	 (D)	 Ginger

065.	 The Nitrogen % in urea is-

	 (A)	 18	 (B)	 26

	 (C)	 46	 (D)	 50

066.	 The Kisan Khad is actually the-

	 (A) DAP	 (B)	 CAN

	 (C)	 Urea	 (D)	 MOP

067.	 The tarai soils are most fertile soil 

because they are-

	 (A)	 Vertisols

	 (B)	 Mollisols

	 (C)	 Antisols

	 (D)	 Aridisols

068.	 Air layering is common practice in-

	 (A) Roses

	 (B)	 Litchi

	 (C)	 Mango

	 (D)	 None of these

063.	 Hw$Hw$a{~Q>ogr n[adma H$s gãOr h¡ -

	 (A)	 Q>‘mQ>a	

	 (B)	 bhgwZ

	 (C)	 Amby

	 (D)	 nadb

064.	 H$mob n[adma H$s gãOr h¡ -

	 (A) nÎmm Jmo^r

	 (B)	 ‘ybr

	 (C)	 bhgwZ

	 (D)	 AXaH$

065.	 ¶y[a¶m ‘| ZmBQ´>moOZ % h¡ -

	 (A)	 18	 (B)	 26

	 (C)	 46	 (D)	 50

066.	 "{H$gmZ ImX' {H$g Cd©aH$ H$m Zm‘ h¡ -

	 (A) S>r.E.nr.	 (B)	 gr.E.EZ.

	 (C)	 ¶y[a¶m	 (D)	 E‘.Amo.nr.

067.	 VamB© {‘Q²>Q>r g~go A{YH$ CnOmD$ hmoVr h¡ 

³¶m|{H$ dh ........... hmoVr h¡ -

	 (A)	 dQ>ugmob

	 (B)	 ‘m¡brgmob

	 (C)	 E§Q>rgmob

	 (D)	 EarS>rgmob

068.	 "E¶a bo¶[a¨J' VarH$m g~go A{YH$ AnZmVo 

h¢ -

	 (A) Jwbm~

	 (B)	 brMr

	 (C)	 Am‘

	 (D)	 BZ‘| go H$moB© Zht
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069.	 Veneer grafting is common practice in-
	 (A)	 Roses
	 (B)	 Litchi
	 (C)	 Mango
	 (D)	 None of these

070.	 In mangoes, the edible portion is-
	 (A) endocarp
	 (B)	 mesocarp
	 (C)	 exocarp
	 (D)	 All three

071.	 Which one of the following hormones 
are responsible for ripening of fruits-

	 (A)	 ABA	 (B)	 Ethylene
	 (C)	 NAA	 (D)	 Auxin

072.	 Which of the following nutrients are 
integral part of chlorophyll structure-

	 (A) Mg and P
	 (B)	 N and P
	 (C)	 N and Mg
	 (D)	 N and K.

073.	 The geo-hydrological unit with single 
common drainage point is called-

	 (A)	 Catchment
	 (B)	 Watershed
	 (C)	 Both catchment and watershed
	 (D)	 None of these

074.	 The agro-climate zones in UP and India 
are-

	 (A) 9 and 15
	 (B)	 15 and 9
	 (C)	 7 and 21
	 (D)	 15 and 21

069.	 ""dr{Z¶a J«mpâQ>§J'' VarH$m g~go A{YH$ 
AnZmVo h¢ -

	 (A) Jwbm~
	 (B)	 brMr
	 (C)	 Am‘
	 (D)	 BZ‘| go H$moB© Zht

070.	 Am‘ ‘| ImZo ¶mo½¶ ^mJ h¡ -
	 (A) E§S>moH$mn©
	 (B)	 {‘gmoH$mn©
	 (C)	 E³gmoH$mn©
	 (D)	 g^r VrZm| (A), (B) Ed§ (C)

071.	 BZ‘| go H$m¡Z gm hma‘moZ ’$bm| H$mo nH$mVm h¡-

	 (A)	 ABA	 (B)	 BWmBbrZ

	 (C)	 NAA	 (D)	 Am¡{gZ

072.	 "³bmoamo{’$b' {H$Z nmofH$ VËdm| go ~Zm h¡?

	 (A) Mg and P
	 (B)	 N and P
	 (C)	 N and Mg
	 (D)	 N and K.

073.	 ^y{‘ H$m dh ^mJ Ohm± Ob {ZH$mg H$s 

EH$ OJh {ZpíMV hmo, H$hbmVm h¡ -

	 (A)	 H¡$M‘|Q>

	 (B)	 dmQ>agoS>

	 (C)	 XmoZmo§ (A) Ed§ (B)
	 (D)	 BZ‘| go H$moB© Zht

074.	 C.à. VWm ^maV ‘| "EJ«mo-³bmB‘oQ>' OmoÝg h¡-

	 (A) 9 VWm 15
	 (B)	 15 VWm 9
	 (C)	 7 VWm 21
	 (D)	 15 VWm 21
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075.	 The agro-ecological zones in India are-

	 (A)	 25	 (B)	 21

	 (C)	 20	 (D)	 23

076.	 Development of fruit without fertilization 

is called-

	 (A) Parthenogenesis

	 (B)	 Parthenocarpy

	 (C)	 Apomixis

	 (D)	 Apozamy

077.	 Blind tillage is commonly associated 

with crop like-

	 (A)	 Mango	 (B)	 Sugarcane

	 (C)	 Potato	 (D)	 Wheat

078.	 The mimicry weed of wheat is-

	 (A) Chenopodium album

	 (B)	 Phalaris minor

	 (C)	 Parthenium hysterophorus

	 (D)	 Cynadon diachylon

079.	 The property of soil which can not be 

altered is-

	 (A)	 Soil air

	 (B)	 Soil water

	 (C)	 Soil texture

	 (D)	 Soil structure	

080.	 Photorespiration process is common in-
	 (A) C4 plants
	 (B)	 C3 plants
	 (C)	 CAM plants
	 (D)	 None of these.

075.	 ^maV ‘| "EJ«mo-BH$mobmo{OH$b OmoÝg' h¡ -

	 (A)	 25	 (B)	 21

	 (C)	 20	 (D)	 23

076.	 ’$bm| H$m {dH$mg {~Zm ’$aQ>rbmBOoeZ Ho$ 

H$hbmVm h¡ -

	 (A) nmaWoZmoOoZo{gg

	 (B)	 nmaWmoZmoH$mnu

	 (C)	 Enmo{‘p³gg

	 (D)	 EnmoJo‘r

077.	 A§Yr (Jw‹S>mB©) OwVmB© {H$g ’$gb go gå~pÝYV 

h¡-

	 (A)	 Am‘	 (B)	 JÝZm

	 (C)	 Amby	 (D)	 Johÿ±

078.	 Johÿ± H$m ZH$bMr IanVdma h¡ -

	 (A) MrZmonmo{S>¶‘ Eb~‘

	 (B)	 ’o$bm[ag ‘mBZa

	 (C)	 nmaWo{Z¶‘-{hñQ>oamo’$moag

	 (D)	 gmBZmS>mZ S>mBH$mobmZ

079.	 {‘Å>r H$s dh {d{eîQ>Vm {Ogo n[ad{V©V Zht 

{H$¶m Om gH$Vm -

	 (A)	 ‘¥Xm dm¶w

	 (B)	 ‘¥Xm Ob

	 (C)	 ‘¥Xm Q>o³Ma

	 (D)	 ‘¥Xm aMZm (ñQ´>³Ma)

080.	 ’$moQ>moaoñnraoeZ {H«$¶m, Am‘ {H«$¶m h¡ -

	 (A) C4 nm¡Yo ‘|

	 (B)	 C3 nm¡Yo ‘|

	 (C)	 CAM nm¡Yo ‘|

	 (D)	 BZ‘| go H$moB© Zht
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081.	 “It is a necessary evil”. This statement 
is true for-

	 (A)	 Respiration
	 (B)	 Photosynthesis
	 (C)	 Photorespiration
	 (D)	 None of these.

082.	 Crops like cotton, bhindi are the 
examples of family-

	 (A) Euphorbiaceae	
	 (B)	 Malvaceae
	 (C)	 Leguminaceae
	 (D)	 Cucurbitaceae

083.	 Water use efficiency is determined
by-

	 (A)	 TE
Y

	 (B)	 Y × ET

	 (C)	
Y
TE

	 (D)	 None of these

084.	 The crops which leave the field 
exhaustive after growing are called-

	 (A) Energy crops
	 (B)	 Exhaustive
	 (C)	 Supplementary
	 (D)	 Nurse Crops

085.	 When both crop is benef it ted in 
intercropping, these crops are called-

	 (A)	 Complementary crops
	 (B)	 Supplementary crops
	 (C)	 Competitive crops
	 (D)	 None of these

081.	 ""¶h EH$ Amdí¶H$ ~wamB© h¡'' ¶h dm³¶ 
............. {H«$¶m Ho$ {bE gË¶ h¡ -

	 (A)	 ídmgmoÀN>dmg
	 (B)	 àH$me g§íbofU (Photosynthesis)
	 (C)	 àH$me ídmgmoÀN>dmg
	 (D)	 BZ‘| go H$moB© Zht

082.	 H$nmg, {^ÊS>r O¡gr ’$gb| ....... Hw$b go 
gå~pÝYV h¢ -

	 (A) ¶y’$moa{~¶ogr
	 (B)	 ‘mbdogr
	 (C)	 boJy{‘Zogr
	 (D)	 Hw$Hw$a{~Q>ogr

083.	 Ob Cn¶moJ j‘Vm H$mo kmV {H$¶m OmVm h¡-

	 (A)	 TE
Y

	 (B)	 Y × ET

	 (C)	
Y
TE

	 (D)	 BZ‘| go H$moB© Zht

084.	 do ’$gb| Omo CJZo Ho$ níMmV² ^y{‘ H$s 
Cd©am j‘Vm H$‘ H$aVr h¢, H$hbmVr h¢ -

	 (A) BZOu ’$gb|
	 (B)	 E³ghmpñQ>d ’$gb|
	 (C)	 gnbr‘oÝQ>ar ’$gb|
	 (D)	 Zg© ’$gb|

085.	 AÝV… gñ¶Z {H«$¶m ‘| O~ XmoZm| ’$gbm| 
H$mo CnbpãYV àmá hmoVr h¡, Vmo CZ ’$gbm| 
H$mo H$hVo h¢

	 (A)	 H$monbr‘oÝQ>ar ’$gb|
	 (B)	 gnbr‘oÝQ>ar ’$gb|
	 (C)	 H$ånQ>r{Q>d ’$gb|

	 (D)	 BZ‘| go H$moB© Zht
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086.	 Duram wheat is also called as-

	 (A) Marconi wheat	

	 (B)	 Bread wheat

	 (C)	 Club wheat

	 (D)	 Samba wheat

087.	 SRI method is associated with-

	 (A)	 Wheat

	 (B)	 Maize

	 (C)	 Rice

	 (D)	 Pulse

088.	 The dwarfing gene in wheat is-

	 (A) Dec-geo-woo-gen

	 (B)	 Norin-id

	 (C)	 Lysine

	 (D)	 Tryptophan

089.	 Cotton fibre is simply an elongation of 

______of seed coat-

	 (A)	 Endodermal cells

	 (B)	 Epidermal cells

	 (C)	 Mesodermal cells

	 (D)	 None of these

090.	 The edible portion of mango is-

	 (A) Epicarp	

	 (B)	 Mesocarp

	 (C)	 Endocarp

	 (D)	 Both (A) & (B)

086.	 S²>¶ya‘² Johÿ± H$m Xÿgam Zm‘ h¡ -

	 (A) ‘maH$moZr Johÿ±

	 (B)	 ~«oS> Johÿ±

	 (C)	 ³b~ Johÿ±

	 (D)	 gmå~m Johÿ±

087.	 SRI {d{Y gå~pÝYV h¡ -

	 (A)	 Johÿ± go

	 (B)	 YmZ go

	 (C)	 ‘³H$m go

	 (D)	 XbhZr ’$gbm| go

088.	 Johÿ± H$s ~moZr OrZ h¡ -

	 (A) S>r.{O¶mo.~r.OZ

	 (B)	 Zmo[aZAmB©.S>r.

	 (C)	 bmBgrZ

	 (D)	 {Q´>ßQ>mo’$m¡Z

089.	 H$nmg H$m aogm (’$mB~a) grS> H$moQ> H$m 

’¡$bmd h¡ -

	 (A)	 BÝS>moS>a‘b gob

	 (B)	 B{nS>a‘b gob

	 (C)	 ‘ogmoS>a‘b gob

	 (D)	 Cnamo³V ‘| go H$moB© Zht

090.	 Am‘ ‘| ImZo ¶mo½¶ ^mJ h¡ -

	 (A) EnrH$mn©

	 (B)	 {‘gmoH$mn©

	 (C)	 EÝS>moH$mn©

	 (D)	 XmoZm| (A) Ed§ (B)
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091.	 The edible portion of apple is-

	 (A)	 Epicarp

	 (B)	 Mesocarp

	 (C)	 Endocarp

	 (D)	 Both (A) & (B)

092.	 Indian institute of sugarcane research 

is located at-

	 (A) Lucknow

	 (B)	 Delhi

	 (C)	 Coimbatore

	 (D)	 Chandigarh

093.	 VPKAS (Vivekanand Parvatiya Krishi 

Anusandhan Sansthan) is located at-

	 (A)	 Delhi

	 (B)	 Lucknow

	 (C)	 Almora

	 (D)	 Dehradun

094.	 The inflorescence of sugarcane is 

called as-

	 (A) Arrow

	 (B)	 Blossom

	 (C)	 Flower

	 (D)	 None of these

095.	 The water use efficiency is maximum 

in-

	 (A)	 Sprinkler irrigation

	 (B)	 Drip irrigation

	 (C)	 Flood irrigation

	 (D)	 Check basin irrigation

091.	 go~ ‘| ImZo ¶mo½¶ ^mJ h¡ -

	 (A) EnrH$mn©

	 (B)	 {‘gmoH$mn©

	 (C)	 EÝS>moH$mn©

	 (D)	 XmoZm| (A) Ed§ (B)

092.	 ^maVr¶ JÝZm AZwg§YmZ g§ñWmZ pñWV h¡ -

	 (A) bIZD$

	 (B)	 {Xëbr

	 (C)	 H$mo¶å~Qy>a

	 (D)	 MÊS>rJ‹T>

093.	 {ddoH$mZÝX nd©Vr¶ H¥${f AZwg§YmZ g§ñWmZ 

pñWV h¡ -

	 (A) {Xëbr

	 (B)	 bIZD$

	 (C)	 Ab‘mo‹S>m

	 (D)	 XohamXÿZ

094.	 JÝZo Ho$ ’y$b H$mo H$hVo h¢ -

	 (A) Eamo

	 (B)	 ’y$b

	 (C)	 nwîn

	 (D)	 BZ‘| go H$moB© Zht

095.	 g~go A{YH$ Ob Cn¶moJ j‘Vm hmoVr h¡ -

	 (A)	 ~m¡N>mar qgMmB©

	 (B)	 Q>nH$ qgMmB©

	 (C)	 ~m‹T> qgMmB©

	 (D)	 M¡H$ ~o{gZ qgMmB©
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096.	 The tag colour of certified seed is-

	 (A) Purple

	 (B)	 Blue

	 (C)	 White

	 (D)	 Green

097.	 The tag colour of foundation  seed is-

	 (A)	 Purple

	 (B)	 Blue

	 (C)	 White

	 (D)	 Green

098.	 The tetrazolium chloride test is used to 

check-

	 (A)	 Germination of seed

	 (B)	 Viability of seeds

	 (C)	 Respiration of seed

	 (D)	 None of these.

099.	 The harmone use for ripening the fruit 

is-

	 (A)	 Gibberellic acid

	 (B)	 Auxin

	 (C)	 Cytokinin

	 (D)	 Ethylene

100.	 Grodex test is the indicator of-

	 (A) Seed respiration

	 (B)	 Seed germination

	 (C)	 Both (A) & (B)

	 (D)	 None of these

096.	 gaQ>r’$mBS> ~rOm| H$m Q>¡J h¡ -

	 (A) ~¢JZr

	 (B)	 Zrbm

	 (C)	 g’o$X

	 (D)	 ham

097.	 ’$mCÝS>oeZ ~rOm| H$m Q>¡J h¡ -

	 (A) ~¢JZr

	 (B)	 Zrbm

	 (C)	 g’o$X

	 (D)	 ham

098.	 Q>oQ>amOmo{b¶‘ ³bmoamBS> narjU .......... 

kmV H$aZo Ho$ {bE {H$¶m OmVm h¡ -

	 (A)	 ~rOm| H$s A§Hw$aU j‘Vm

	 (B)	 ~rOm| H$s OrdZ ¶mo½¶Vm

	 (C)	 ~rOm| H$m ídmgmoÀN>dmg

	 (D)	 BZ‘| go H$moB© Zht

099.	 ’$bm| H$mo nH$mZo ‘| {H$g hma‘moZ H$m Cn¶moJ 

hmoVm h¡ -

	 (A)	 {O~ao{bH$ Aåb

	 (B)	 Am¡{gZ

	 (C)	 gmBQ>moH$m¶{ZZ

	 (D)	 BWm¶{bZ

100.	 J«moS>o³g narjU gyMH$ h¡ -

	 (A) ~rO ídmgmoÀN>dmg

	 (B)	 ~rO H$s A§Hw$aU j‘Vm

	 (C)	 XmoZm| (A) VWm (B)

	 (D)	 BZ‘| go H$moB© Zht
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AG - III : AGRICULTURAL ENGINEERING AND STATISTICS / H¥${f A{^¶m§{ÌH$s Am¡a gm§p»¶H$s

101.	 Share, mould board and land side are 
attached with

	 (A)	 frog
	 (B)	 body
	 (C)	 beam
$	 (D)	 handle

102.	 Mould board of plow are of following 
type

	 (A)	 Stubble type
	 (B)	 sod or breaker type
	 (C)	 general purpose type
$	 (D)	 all of the above.

103.	 Tilt angle of disc plow is in the range 
of-

	 (A)	 35 to 50°
	 (B)	 10 to 15°
	 (C)	 40 to 45°
$	 (D)	 15 to 25°

104.	 Disc. angle of disc plow varies in the 
range of 

	 (A)	 42 to 45°
	 (B)	 50 to 53°
	 (C)	 60 to 63°
$	 (D)	 30 to 38°

105.	 Vertical suction of mould board plow 
is used for

	 (A)	 To make wide throw
	 (B)	 to help to increase the depth of 

plow
	 (C)	 to reduce the draft of plow
$	 (D)	 None of the above

101.	 ’$mb, n§Im Am¡a b¡ÊS> gmBS> Ow‹S>r hmoVr 

h¡

	 (A)	 ’«$mJ go

	 (B)	 ~m°S>r go

	 (C)	 h[ag go

$	 (D)	 ‘w{‹S>¶m go

102.	 hb Ho$ n§Io {ZåZ àH$ma Ho$ hmoVo h¢-

	 (A)	 ñQ>~b

	 (B)	 gmS> ¶m ~«oH$a

	 (C)	 OZab H$m‘ Ho$ {b¶o

$	 (D)	 Cnamo³V g^r

103.	 VdoXma hb Ho$ nrN>o Ho$ H$moU ({Q>ëQ> E§{Jb) 

H$s n[a{Y (a|O) hmoVr h¡

	 (A)	 35 go 50°

	 (B)	 10 go 15°

	 (C)	 40 go 45°

$	 (D)	 15 go 25°

104.	 VdoXma hb Ho$ {S>ñH$ H$moU H$s n[a{Y (a|O 

hmoVr h¡& 

	 (A)	 42 go 45°

	 (B)	 50 go 53°

	 (C)	 60 go 63°

$	 (D)	 30 go 38°

105.	 n§Io dmbo hb ‘| d{Q>©H$b g³gZ H$m H$m‘ 

hmoVm h¡&

	 (A)	 Mm¡‹S>r Hy§$‹S> ~ZmZo Ho$ {bE&

	 (B)	 hb H$s JhamB© ~‹T>mZo Ho$ {bE

	 (C)	 hb H$m qIMmd H$‘ H$aZo Ho$ {bE

$	 (D)	 Bg‘| go H$moB© Zht
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106.	 Coulters are used -

	 (A)	 To help loosing furrow slice from 

wall

	 (B)	 to cut through trash

	 (C)	 to reduce the draft of plow

$	 (D)	 all of the above

107.	 Rotary hoe is used for -

	 (A)	 Investing the soil

	 (B)	 Cutting the trash

	 (C)	 Pulverise the soil

$	 (D)	 for green manuring.

108.	 Sub-surface tillage tools are used to 

work

	 (A)	 at a shallow depth

	 (B)	 at deep depth

	 (C)	 to invert the soil

$	 (D)	 none of the above

109.	 Sub soiler is used

	 (A)	 to pulverize the soil

	 (B)	 to break the hard pan of the soil

	 (C)	 wet pudding of soil

$	 (D)	 To cut the trash

110.	 The implement chokes between discs.

	 (A)	 Speed of tractor is too low

	 (B)	 scrapers are not set correctly

	 (C)	 gangs are not rolling freely

$	 (D)	 All of the above

106.	 H$moëQ>a H$m H$m‘ hmoVm h¡

	 (A)	 Hy§$‹S> H$mo T>rbm H$aZo ‘| ‘XX H$aZm

	 (B)	 IanVdma H$mo H$mQ>Zm

	 (C)	 hb H$m qIMmd H$‘ H$aZm

$	 (D)	 Cnamo³V g^r

107.	 amoQ>ar hmo H$m H$m‘ h¡-

	 (A)	 {‘Q²>Q>r H$mo nbQ>Zm

	 (B)	 IanVdma H$mo H$mQ>Zm

	 (C)	 {‘Q²>Q>r ^wa^war H$aZm

$	 (D)	 har ImX ~ZmZm

108.	 H$‘ gVh dmbo OwVmB© ¶§Ì H$m¶© H$aVo h¢-

	 (A)	 H$‘ ({N>N>bo) JhamB© na

	 (B)	 A{YH$ JhamB© na

	 (C)	 {‘Q²>Q>r nbQ>Zo Ho$ {b¶o

$	 (D)	 Cnamo³V H$moB© Zht

109.	 g~ ñdmba H$m H$m‘ h¡-

	 (A)	 {‘Q²>Q>r ^wa^war H$aZm

	 (B)	 {‘Q²>Q>r Ho$ AÝXa H$s H$‹S>r naV Vmo‹S>Zm

	 (C)	 Jrbr {‘Q²>Q>r ‘| n‹S>qbJ (‘WZo) H$aZm

$	 (D)	 O‘rZ na n‹S>o hþE IanVdma H$mQ>Zm

110.	 VdoXma OwVmB© ¶§Ì Ho$ ~rM MmoqH$J H$m H$maU

	 (A)	 Q´>¡³Q>a H$s J{V H$m H$‘ hmoZm&

	 (B)	 ñH«o$na H$m R>rH$ go Zht bJmZm&

	 (C)	 J¢J H$m ñdV§Ì ê$n go Zht Ky‘Zm

$	 (D)	 Cnamo³V g^r
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111.	 Hoe type furrow openers are -

	 (A)	 Good for strong root infested soil

	 (B)	 Good for poor trashy soil

	 (C)	 good for pulverized soil

$	 (D)	 None of the above

112.	 Seed drill effective width is 1m and is 

operated at 4 km/h. Area covers in 8 

hrs will be-

	 (A)	 2.5 ha.	 (B)	 4.2 ha.

	 (C)	 3.2 ha.$	 (D)	 5.2 ha.

113.	 Tractor plow width is 40 cm and depth 

is 20 cm. Draft of the implement is 

measured 4000 Kg. The unit draft will 

be -

	 (A)	 6 kg/cm2	 (B)	 5 kg/cm2

	 (C)	 4 kg/cm2$	 (D)	 10 kg/cm2

114.	 Cleaning of grain is unsatisfactory 

because-

	 (A)	 Fan speed is less

	 (B)	 Wrong adjustment of the air guide 

blade to fan

	 (C)	 disordered radial blower blades

$	 (D)	 All of the above.

115.	 Rotary puddlers are used in rice 

cultivation due to-

	 (A)	 better pulverization

	 (B)	 better puddling

	 (C)	 reduced draft

$	 (D)	 All of the above

111.	 hmo Vah Ho$ Hy$‹S> ~ZmZo dmbo ¶§Ì AÀN>o 
hmoVo h¢

	 (A)	 nWarbr Am¡a O‹S> (ê$Q>) dmbr O‘rZ 
Ho$ {bE

	 (B)	 H$‘ IanVdma dmbr O‘rZ Ho$ {bE
	 (C)	 ^wa^war O‘rZ Ho$ {b¶o
$	 (D)	 Cnamo³V ‘o§ go H$moB© Zht

112.	 EH$ grS> {S´>b H$s Mm¡‹S>mB© 1 ‘rQ>a h¡ Am¡a 
¶h 4 (Mma) {H$.‘rQ>a H$s J{V go MbmB© Om 
ahr h¡ Vmo 8 K§Q>o ‘| {H$VZm joÌ’$b ~mo¶oJr-

	 (A)	 2.5 ha.	 (B)	 4.2 ha.
	 (C)	 3.2 ha.$	 (D)	 5.2 ha.

113.	 Q´>¡³Q>a go MbZo dmbo hb H$s Mm¡‹S>mB© 40 
go‘r h¡ Am¡a ¶h 20 go‘r. JhamB© OwVmB© H$a 
ahm h¡ Bg ¶§Ì na qIMmd 4000 {H$J«m. 
n‹S> ahm h¡ Vmo BH$mB© qIMmd (¶y{ZQ> S´>mâQ>) 
³¶m hmoJm

	 (A)	 6 kg/cm2	 (B)	 5 kg/cm2

	 (C)	 4 kg/cm2$	 (D)	 10 kg/cm2

114.	 XmZo H$s g’$mB© g§VmofOZH$ Zht hmo ahr h¡ 
³¶m| {H$-

	 (A)	 n§Io H$s J{V H$m H$‘ hmoZm
	 (B)	 n§Io H$mo JmBS> ãboS> go hdm H$m R>rH$ 

go Z AmZm
	 (C)	 ao{S>¶b ãbmoAa ãboS> H$m ghr Z hmoZm&
$	 (D)	 Cnamo³V g^r

115.	 YmZ H$s IoVr Ho$ {bE amoQ>ar nS>ba Cn¶w³V 
h¡-

	 (A)	 {‘Q²>Q>r H$mo AÀN>r Vah ^war^war H$aZo 
H$m H$maU

	 (B)	 AÀN>r nS>qbJ H$aZo Ho$ H$maU
	 (C)	 H$‘ qIMmd Ho$ H$maU
$	 (D)	 Cnamo³V g^r
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116.	 Open type impeller is used -

	 (A)	 for pumping liquid containing 

solid particles

	 (B)	 for pumping clean water

	 (C)	 for pumping liquid containing 

sediments and foreign matter

$	 (D)	 None of above

117.	 A pump is discharging 300 l/sec

from head of 20 m. The water horse 

power of pump is

	 (A)	 60 whp	 (B)	 70 whp

	 (C)	 80 whp$	 (D)	 90 whp

118.	 Enough water by pumps is not delivered -

	 (A)	 Pump speed is less

	 (B)	 suction lift is more

	 (C)	 discharge head higher  than 

anticipated

$	 (D)	 All of the above

119.	 Pump required excessive power-

	 (A)	 Speed too high 

	 (B)	 head lower than rating

	 (C)	 Total head higher than designed 

head of the pump

$	 (D)	 All of the above

120.	 Multi stage pump has-

	 (A)	 More than one impeller

	 (B)	 One impeller

	 (C)	 Impeller axis parallel to earth 

$	 (D)	 Pump shaft vertical

116.	 Iwbo àH$ma Ho$ Bånoba H$m à¶moJ hmoVm h¡-

	 (A)	 Ob ‘| R>mog nXmW© Ho$ gmW nån 

H$aZo Ho$ {bE

	 (B)	 ñdÀN> Ob H$mo nån H$aZo Ho$ {bE

	 (C)	 go{S>‘oÝQ> Ed§ AÝ¶ nXmW© go {‘{lV 

Ob H$mo nån H$aZo Ho$ {bE

$	 (D)	 Cnamo³V ‘| go H$moB© Zht

117.	 EH$ nån 300 br/go. nmZr 20 ‘rQ>a Ho$ 

hoS> go Xo ahm h¡& nån H$s Ob hmg© 

ep³V (dmQ>a hmg© nmda) h¡-

	 (A)	 60 whp	 (B)	 70 whp
	 (C)	 80 whp$	 (D)	 90 whp

118.	 nån go R>rH$ ‘mÌm ‘| nmZr Zht nån hmo 

ahm h¡-

	 (A)	 nån H$s J{V H$‘ h¡&

	 (B)	 g³eZ H$s D±$MmB© Á¶mXm h¡&

	 (C)	 {S>ñMmO© hoS> Amdí¶H$Vm go Á¶mXm h¡&

$	 (D)	 Cnamo³V g^r

119.	 nån H$mo MbmZo Ho$ {bE A{YH$ nmda 

Mm{h¶o-

	 (A)	 J{V H$m Á¶mXm hmoZm

	 (B)	 aoqQ>J H$s Anojm hoS> H$m H$‘ hmoZm

	 (C)	 Q>moQ>b hoS> nån H$s Amdí¶H$VmZwgma 

A{YH$ hmoZm

$	 (D)	 Cnamo³V g^r

120.	 ‘ëQ>r ñQ>oO nån ‘| hmoVm h¡-

	 (A)	 Cg‘| EH$ go Á¶mXm Bånoba hmoVo h¢

	 (B)	 Bg‘| EH$ Bånoba hmoVm h¡

	 (C)	 Bånboa H$s Ep³gg O‘rZ Ho$ g‘mZmÝVa 

hmoVr h¡&

$	 (D)	 nån H$s gmâQ> bå~dV hmoVr h¡&
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121.	 Size of spray drop of orchard sprayer 

with turbo nozzle varies from-

	 (A)	 90-100 micron

	 (B)	 100-150 micron

	 (C)	 150-200 micron

$	 (D)	 200-250 micron

122.	 Pedal operated rice cylinder is-

	 (A)	 raspbar type

	 (B)	 Hammer mill type

	 (C)	 Peg type

$	 (D)	 Wire loop type

123.	 Type of threshing drum in wheat 

thresher is 

	 (A)	 rasp bar type

	 (B)	 Spike tooth type

	 (C)	 Wire loop type

$	 (D)	 All of the above

124.	 Buck scraper is used for

	 (A)	 Breaking the clod

	 (B)	 inverting the soil

	 (C)	 levelling the field

$	 (D)	 None of the above

125.	 Animal drawn patela harrow is used 

for 

	 (A)	 clod crushing

	 (B)	 stubble or trash collection

	 (C)	 levelling and smoothening

$	 (D)	 All of the above

121.	 {N>‹S>H$md dmbr ‘erZ {Og‘| Q>~m} Zm{Ob 

bJr hmoVr h¡ Cg‘| {N>‹S>H$md Ho$ ~y§X H$s 

gmBO H$s a|O hmoVr h¡-

	 (A)	 90-100 micron
	 (B)	 100-150 micron
	 (C)	 150-200 micron
$	 (D)	 200-250 micron

122.	 noS>b go MbZo dmbr YmZ Ho$ ‘‹‹S>mB© H$s 

‘erZ H$m S´>‘ hmoVm h¡-

	 (A)	 a¡ñn~ma Vah H$m

	 (B)	 h¡å‘a {‘b Vah H$m

	 (C)	 Iy§Q>r (noJ) Vah H$m

$	 (D)	 dm¶a byn Vah H$m

123.	 Johÿ± H$s ‘‹S>mB© H$m S´>‘ {ZåZ Vah H$m hmoVm 

h¡ 
	 (A)	 a¡ñn~ma Vah H$m

	 (B)	 ñnmBH$ Vah H$m

	 (C)	 ~m¶a byn Vah H$m

$	 (D)	 Cnamo³V g^r

124.	 ~H$ ñH«o$na H$m‘ ‘| AmVm h¡-

	 (A)	 R>obo Vmo‹S>Zo Ho$

	 (B)	 {‘Q²>Q>r nbQ>Zo Ho$

	 (C)	 joÌ H$mo g‘Vb H$aZo Ho$

$	 (D)	 Cnamo³V ‘| go H$moB© Zht

125.	 ~¡bm| go MbmZo dmbo nQ>obm h¡amo H$m H$m¶© 

h¡- 
	 (A)	 T>obm| H$mo Vmo‹S>Zm

	 (B)	 Ty>§R> d IanVdma BH$Q²>R>m H$aZm

	 (C)	 O‘rZ H$s gVh H$mo {MH$Zm Am¡a 

g‘Vb H$aZm

$	 (D)	 Cnamo³V ‘| go H$moB© Zht
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126.	 The height of water on 90°v notch is 

4 cm, the discharge will be 

	 (A)	 0.5 l/sec.

	 (B)	 0.6 l/sec.

	 (C)	 0.45 l/sec.

$	 (D)	 0.5 l/sec.

127.	 Fly wheal chalf cutter is equipped with 

	 (A)	 spiral gear

	 (B)	 bevel gear

	 (C)	 worm gear

$	 (D)	 All of the above

128.	 Sub Soiler is operated at maximum 

depth of 

	 (A)	 50 to 60 cm

	 (B)	 70 to 80 cm

	 (C)	 75 to 90 cm

$	 (D)	 100 to 120 cm

129.	 Less vertical and horizontal angles of 

dics plow are set for-

	 (A)	 when plowing under heavy trash

	 (B)	 deep plowing

	 (C)	 better penetration

$	 (D)	 All of the above

130.	 In trashing soil, type of furrow opener 

is used in drill-

	 (A)	 Single disc type

	 (B)	 stub runner type

	 (C)	 hoe type

$	 (D)	 shoe type

126.	 ¶{X nmZr H$s D±$MmB© 90°v ZmM ‘| 4 go.‘r. 
h¡ Vmo àld hmoZm-

	 (A)	 0.5 l/go.
	 (B)	 0.6 l/go.
	 (C)	 0.45 l/go.
$	 (D)	 0.5 l/go.

127.	 âbmB© ìhrb Vah H$s Mmam H$mQ>Zo H$s ‘erZ 
‘| {J¶a bJr hmoVr h¡- 

	 (A)	 ñnmBab {J¶a
	 (B)	 ~odob {J¶a
	 (C)	 d‘© {J¶a
$	 (D)	 Cnamo³V g^r

128.	 g~-ñdmba Ho$ H$m¶© H$aZo H$s A{YH$V‘ 
JhamB© hmoVr h¡- 

	 (A)	 50 go 60 go.‘r.
	 (B)	 70 go 80 go.‘r.
	 (C)	 75 go 90 go.‘r.
$	 (D)	 100 go 120 go.‘r.

129.	 VdoXma hb ‘| bå~dV H$moU Am¡a hm[aOÝQ>b 
H$moU H$mo H$‘ {S>J«r na goQ> H$aHo$ Mbm¶m 
OmVm h¡-

	 (A)	 O~ Á¶mXm IanVdma hmo
	 (B)	 OwVmB© A{YH$ JhamB© na H$aZr h¡
	 (C)	 {S>ñH$ hb AÀN>r Vah ZrMo Om¶
$	 (D)	 Cnamo³V g^r

130.	 IanVdma dmbr ^y{‘ ‘| ~wdmB© Ho$ {b¶o 
{ZåZ Vah H$m Hy$‹S> ~ZmZo H$m ¶§Ì à¶moJ 
hmoVm h¡-

	 (A)	 EH$ {S>ñH$ dmbm
	 (B)	 ñQ>~ aZa Vah H$m
	 (C)	 hmo Vah H$m
$	 (D)	 ey Vah H$m
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131.	 The measures of dispersion is -
	 (A)	 range
	 (B)	 mean deviation 
	 (C)	 standard deviation
$	 (D)	 All of the above

132.	 Find the mean deviation about the mean 
for following data, which is-

	 6, 7, 10, 12, 13, 4, 8, 12
	 (A)	 3
	 (B)	 3.25
	 (C)	 2.75
$	 (D)	 4.2

133.	 Mean deviation about median is find 
out by 

	 (A)	 M.D.(M) = 1/n | |x xii

n

1
-

=
/

	 (B)	 M.D.(M) = 1/n | |x mii

n

1
-

=
/

	 (C)	 M.D.(M) = 
)

n

x aii

n

1
-

=
/

$	 (D)	 None of the above

134.	 Given following information

	 ,N 40
i

n

1
= =

=
/   300fi xi

i

n

1
=

=
/  

( ) 92,fi x xii

n

1
- =

=
/  find the M.D.X

	 (A)	 2	 (B)	 3
	 (C)	 2.3$	 (D)	 3.3

135.	 The means of following distribution is-

Class 10-20 20-30 30-40 40-50 50-60

No.of
students

2 3 8 14 8

	 (A)	 50.37
	 (B)	 36.375
	 (C)	 41.57
$	 (D)	 35.125

131.	 ’¡$bmd ({S>gng©Z) H$m ‘mnH$ h¡-
	 (A)	 a|O
	 (B)	 ‘Ü¶ {ZMbZ
	 (C)	 ‘mZH$ {dMbZ
$	 (D)	 Cnamo³V g^r

132.	 {ZåZ S>oQ>m go ‘Ü¶ {dMbZ ‘rZ kmV H$a| 
Omo {ZåZ ‘| H$m¡Z h¡-

	 6, 7, 10, 12, 13, 4, 8, 12
	 (A)	 3
	 (B)	 3.25
	 (C)	 2.75
$	 (D)	 4.2

133.	 ‘Ü¶ {dMbZ ‘o{S>¶Z H$m {ZåZ {H$g ’$ma‘wbo 
go {ZH$mbm OmVm h¡- 

	 (A)	 M.D.(M) = 1/n | |x xii

n

1
-

=
/

	 (B)	 M.D.(M) = 1/n | |x mii

n

1
-

=
/

	 (C)	 M.D.(M) = 
)

n

x aii

n

1
-

=
/

$	 (D)	 Cnamo³V H$moB© Zht

134.	 {ZåZ S>oQ>m Ho$ AmYma na ‘Ü¶ {dMbZ  
(M.D.X) ³¶m hmoJm-

	 ,N 40
i

n

1
= =

=
/  300fi xi

i

n

1
=

=
/

	 ( ) 92fi x xii

n

1
- =

=
/  

	 (A)	 2	 (B)	 3
	 (C)	 2.3$	 (D)	 3.3

135.	 {ZåZ{b{IV ~§Q>Z H$m ‘mÜ¶‘ h¡&

Class 10-20 20-30 30-40 40-50 50-60

No.of
students

2 3 8 14 8

	 (A)	 50.37
	 (B)	 36.375
	 (C)	 41.57
$	 (D)	 35.125
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136.	 The M.D.X  (Mean Deviation) for above 
problem (135) is

	 (A)	 7	 (B)	 9
	 (C)	 12$	 (D)	 8.4

137.	 If, ( )x xii

n 2

1
-

=
/  is small this indicates 

that
	 (A)	 observations are close to median
	 (B)	 observation are close to mean x
	 (C)	 observations have higher degree of 

dispersion
$	 (D)	 None of the above

138.	 If Sum of fi = 30, fi xi = 420 and  

( ) 1347fi x x 2- = , N fi
i

n

1
=

=
^ h/ , the 

standard deviation will be-
	 (A)	 7.85	 (B)	 6.77
	 (C)	 5.67$	 (D)	 8.73

139.	 The variance of Q.No.138 will be -
	 (A)	 45.8	 (B)	 50.8
	 (C)	 55.8$	 (D)	 40.8

140.	 Standard deviation of continuous 
frequency distribution is given as 

	 / ( )S n fi x x1 ii

n 2

1
= -

=
/   Then means 

of following distribution will be 

Class
30-
40

40-
50

50-
60

60-
70

70-
80

80-
90

90-
100

Frequency 3 2 12 15 2 3 2

	 ,N fi 50
i

n

1
= =

=
/

	 ( ) 10050fi x x
i

n

1

2- =
=

/
	 (A)	 72	 (B)	 52
	 (C)	 62$	 (D)	 82

136.	 Cnamo³V àíZ Z§.135 H$m ‘Ü¶ {dMbZ h¡-
	 (A)	 7	 (B)	 9
	 (C)	 12$	 (D)	 8.4

137.	 ¶{X, ( )x xii

n 2

1
-

=
/  H$m ‘mZ H$‘ h¡ Vmo 

¶h ~VmVm h¡¡ {H$

	 (A)	 {ZarjU ‘o{S>¶Z (m) Ho$ H$ar~ h¡&

	 (B)	 {ZarjU ‘Ü¶ (x) Ho$ H$ar~ h¡&

	 (C)	 {ZarjU H$m ’¡$bmd Á¶mXm h¡&

$	 (D)	 Cnamo³V ‘| go H$moB© Zht&

138.	 ¶{X, ¶moJ fi = 30, fi xi = 420 Am¡a

	 ( ) 1347fi x x 2- = , (ZmoQ> N fi
i

n

1
=

=
/ )

Vmo ‘mZH$ {dMbZ hmoJm-

	 (A)	 7.85	 (B)	 6.77
	 (C)	 5.67$	 (D)	 8.73

139.	 àíZ g§.138 H$m àgmaU (d¡[a¶§g) hmoJm,

	 (A)	 45.8	 (B)	 50.8
	 (C)	 55.8$	 (D)	 40.8

140.	 bJmVma ~maå~maVm H$m ‘mZH$ {dMbZ ¶{X

	 / ( )S n fi x x1 ii

n 2

1
= -

=
/

Class
30-
40

40-
50

50-
60

60-
70

70-
80

80-
90

90-
100

Frequency 3 2 12 15 2 3 2

	 Vmo {ZåZ {X¶o J¶o Vm{bH$m H$m ‘Ü¶ 
(‘rZ) hmoJm {Og‘| 

	 ,N fi 50
i

n

1
= =

=
/

	 ( ) 10050fi x x
i

n

1

2- =
=

/
	 (A)	 72	 (B)	 52
	 (C)	 62$	 (D)	 82
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141.	 The variance of the Q.No. 140 will 
be -

	 (A)	 201	 (B)	 101
	 (C)	 301$	 (D)	 401

142.	 The standard deviation of the Q.No.140 
will be-

	 (A)	 15.18	 (B)	 13.28
	 (C)	 12.18$	 (D)	 14.18

143.	 The measure of variability of unit is 
called-

	 (A)	 coefficient of variation
	 (B)	 standard deviation
	 (C)	 variance
$	 (D)	 None of the above

144.	 In case of open ended classes an 
appropriate measure of dispersion to be 
used is -

	 (A)	 Range
	 (B)	 Standard deviation 
	 (C)	 Mean deviation
$	 (D)	 Quality deviation

145.	 Thermophille microorganism grow well 
at temperature-

	 (A)	 20–40°C
	 (B)	 10–20°C
	 (C)	 05–8°C
$	 (D)	 50-60°C

146.	 Harrow is mainly used for-
	 (A)	 Primary tillage implement 
	 (B)	 secondary tillage implement
	 (C)	 pudling equipment
$	 (D)	 None of the above

141.	 Cnamo³V àíZ g§.140 H$m àgmaU d¡[a¶§g hmoJm

	 (A)	 201	 (B)	 101
	 (C)	 301$	 (D)	 401

142.	 àíZ g§.140 ‘mZH$ {dMbZ hmoJm

	 (A)	 15.18	 (B)	 13.28
	 (C)	 12.18$	 (D)	 14.18

143.	 ApñWaVm H$m ‘mnH$ Omo BH$mB© (¶w{ZQ>) go 

ñdV§Ì h¡, H$hbmVm h¡-

	 (A)	 ApñWaVm H$mo JwUm§H$ H$mo{’$¶§Q> Am°’$ 

d¡[a¶§g

	 (B)	 ‘mZd {dMbZ

	 (C)	 {dMaU (d¡[a¶§g)

$	 (D)	 Cnamo³V ‘| go H$moB© Zht

144.	 AmonoZ EÝS>oS> ³bmgm| Ho$ g§~§Y ‘| Cn¶moJ 

H$aZodmbm àH$sU©Z H$m C{MV ‘mZ h¡-

	 (A)	 a|O

	 (B)	 ‘mZH$ {dMbZ

	 (C)	 ‘mÜ¶ {dMbZ

$	 (D)	 MVwW©H$ {dMbZ

145.	 VmnamUr gyú‘ Ord Bg Vmn‘mZ ‘| AÀN>r 

Vah ~‹T>Vo h¢-

	 (A)	 20–40°C
	 (B)	 10–20°C
	 (C)	 05–8°C
$	 (D)	 50-60°C

146.	 h¡amo H$m ‘w»¶ ê$n go à¶moJ hmoVm h¡-
	 (A)	 àmB‘ar OwVmB© Ho$ ¶§Ì Ho$ ê$n ‘|
	 (B)	 goHo$ÝS>ar OwVmB© Ho$ ê$n ‘|
	 (C)	 nS>qbJ Ho$ {b¶o
$	 (D)	 Cnamo³V ‘| go H$moB© Zht
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147.	 Zero till ferti seed drill is mainly used 

to sow wheat-

	 (A)	 directly in paddy field after harvest

	 (B)	 Pulverized paddy field

	 (C)	 plowed paddy field

$	 (D)	 All of the above

148.	 Drip irrigation in good for-

	 (A)	 Orchard crop

	 (B)	 Tomato crop

	 (C)	 Cabbage and Cauliflower crop

$	 (D)	 All of the above

149.	 Cultivator is mainly used for-

	 (A)	 Plowing 

	 (B)	 Intercultur

	 (C)	 Pudding 

$	 (D)	 None of the above

150.	 With mould board plow the level of 

field is -

	 (A)	 Improved

	 (B)	 Disturbed

	 (C)	 Maintained

$	 (D)	 None of the above

147.	 {~Zm OwVmB© Ho$ Johÿ± ~modmB© H$s ‘erZ H$mo 

‘w»¶V… à¶moJ H$aVo h¢-

	 (A)	 YmZ Ho$ H$Q>mB© Ho$ ~mX {~Zm OwVmB© Ho$

	 (B)	 {‘Q²>Q>r ^wa^war H$aZo Ho$ ~mX

	 (C)	 YmZ Ho$ IoV H$s OwVmB© Ho$ ~mX

$	 (D)	 g^r Xem ‘|

148.	 {S´>n qgMmB© AÀN>r h¡-

	 (A)	 ~JrMm| Ho$ {bE

	 (B)	 Q>‘mQ>a H$s ’$gb Ho$ {bE

	 (C)	 nmV Ed§ ’y$bJmo^r H$s ’$gb Ho$ {bE

$	 (D)	 Cnamo³V g^r Ho$ {bE

149.	 H$ëQ>rdoQ>a ‘w»¶V… à¶moJ {H$¶m OmVm h¡-

	 (A)	 OwVmB© Ho$ {b¶o

	 (B)	 {ZamB©-Jw‹S>mB© Ho$ {bE

	 (C)	 n‹S>qbJ Ho$ {b¶o

$	 (D)	 Cnamo³V ‘| go {H$gr ‘| ^r Zht

150.	 n§Io dmbo hb go OwVmB© Ho$ ~mX IoV H$m 

bo~ob-

	 (A)	 gwYmaVm h¡

	 (B)	 Iam~ hmoVm h¡

	 (C)	 g‘mZ ~Zm ahVm h¡

$	 (D)	 Cnamo³V ‘| go {H$gr ‘| ^r Zht
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SPACE FOR ROUGH WORK / H$ÀMo H$m‘ Ho$ {b¶o OJh


